UNIVERSITI TEKNOLOGI MALAYSIA

TUTORIAL 4

GROUP NAME : T5
GROUP MEMBERS : SYASYA BINTI AZMAN

TAY WEI JIAN

NURIN SOFIYA BINTI ROSLE
SECTION : SECI1013 - 09

Scanned with CamScanner



elg) =33

ed with CamScanner

Scann



Question 2

2
Dk A Anmad | b par o L=Chong  p=vavid, £= Enggn

A

o

b

; ! i A= Adtitural Indcligenee ,
b) Lex  DM- discrete Matnematits, N=Progmmmm9 thhm@ut, rifi g

PS = Pronavility statistic IS = Information  System -

om

Scanned with CamScanner



Ruestion 3

Question 4
ém;:h (3N

Aﬁ,

Qrapn H:

VooV, VoV
“Wl1 1 0
e N R T T
v
Vé | | &0 |
1 Lol .g.oth0

g TR E ey ts 2,
((1 s Vl 2 ) | 0o o O
.ulo o0 o 1 o 0
Bloh: v 0. !
Ylte. @.¢ g 194
\ iRy 2, ty ts QL
ey o 0o 0 0 0
\/( 0 ‘I_ | | l 0
o O R T G A T |
Vel pi giop 1.0 O

Scanned with CamScanner



S)9)- Both G and G, hae Sverfices and 5 eles
- Bt G ad g, ae wonecled ond simple aragh

- Bt Goand G, dae b ovedex with | degee , 2 vedices with 2. degress
and | vertex with 3 degrees

-5:6 9 G,

§[u|)=u5

J(.v,)-u“

$lus) = uq

dlug) v Uy

S'LUS)"ul

Mg, » VAR AV A Mg, « Ug Uy Uy uy
Vifo 1o 1 o W(p I O1 O
Valy 0V o O u“|p‘l00
Vilp t © V! Uyl 1 2 1
wly 01 00 u[1 o t 00
Vs |lg p ' OO0 u,ooiOD

Sine Mg, = Mg,

"G, wd G. ae isomorphic

D -Bath have 5 verbices and b qg%es
~Both are conmected ord dmde dmp}.
I-_‘Bd’ﬁ\ ‘uri': | lcaP ad | Pq'lr- of P“”"ﬂ' sta
B has 2 vedices wih | eR ; | ver Wi 2 Wi
. Jeﬂ% and | verdex with s deér:;a M-;uie H;hl:; r:hwd%r:eﬁ; ‘|| :e":’: Idh
vertey,  with 2 degrees and 3 verfices with 3 degroes L
“Hi and Ha are not isomorphic

Scanned with CamScanner



)a) il
b) walk
o) tiviel walk

d) diruit
e) close] walk

5 path

-")QJF(Hﬁ I: viewze Vs es\fq.
F"H'IJ-' vie, Va3 s vy
B 3: e, v, ey,

Tl + 3 pathe

b)Y bl 1+ vie, v CaVy 03va e Vs 05 vy
Hal 2 ViRiV2 0, vy 04V, 0, V3 eg vy
Trail 3 2 vieva23; eavi ey es vy
il 4 2 vievi ey eyvi e vy es v
'l'tﬂ'\j 5 ViiVa@yVy @av¥a gy V3 sV,
trail b: VieVaBuVy B3 V2Ra Vs ey,
Thl = & hailg

d oo wrlks

SinR all vertieps and 5 :
= There are infintte ffﬁiif'll ﬁﬁ"""’““ % P e

Scanned with CamScanner



Vo [Verluy | v [ va{valva| Vs
Pawee [ 2 | 4[24 [

S the d%@ﬁ. of all welgs are QRN
toThe ﬂmp‘h hay Bler drait

Bler croth s v VaQaVs0 4 Va Gy vy Bs Vy € Vs € V4@ Y,

Vo] V| V| Va| Vef Vs Ve | Vg |
31313

W [vedex | w (v,
My |2 |G |2[2]21%]3

Sing nob all yetlees have even degrees
CV”\', ."Vé ﬂnd Vit have CKH dgdreg")
L) amf’\ by ro Biler diceytt

Scanned with CamScanner



q.
59 (“!/V;,Vg}l,? uf vlfvj/vf;

V‘ Vz ijw; 3¢ ‘; k))
9 ho eul pir pﬁﬂq

Scanne d with CamScanner



Duestion 10

circuit in Thig

ilfon
Q) There is HamiHon circuil in graph (a) . Ham

9"‘!’" is Vo, Vq'/vl ALY \/3/ Vi, Vs, VG/VO .

i t vertex.
- Beaust  fhere s Mo pepeated verteX sther Than the fivst and last v teXx

B - Theye is no Wamilton Cikuit in graph (k) Since ther e will bL
repeared Vet other inan The tirst and last Veriex .
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